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Candidates must write the Code on the
title page of the answer-book.
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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SCIENCE

FeiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 3 | 9] @4 9T &
o] & IR forad & |

Tt go7 ST & |

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
T JFTH 378 )

T F & J97 G&IT 3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Jeg] i
F378 1

YT G & Y97 &I 6 & 15 AH-d17 37l & I3 & | 598 I TTHT 50 Jse)
JdH G 7 8 |

YT 7 % 97 G&IT 16 T 21 i9-9i9 37h] & I3 & | 598 I FTYHT 70 5!
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. et aered i Sega wfctigshar 1 aftam forfae | 1

Define the term electrical resistivity of a material.

2. Torsll WIas & QI Y@ ©cehl shi T TARY | 1

List two main components of an ecosystem.

qr
SECTION B

3. A i 1 B & ? A Ak W SraTen § fagq wen w9 W R 2 2

What are ionic compounds ? Why do ionic compounds not conduct
electricity in the solid state ?

4.  FER % IR AR forelt yam i gig # it fore TR 8™ Bd 3 ? 2
AYAT
dfest 311aT ford e & 2 Tohdfl Sfia & iR & e e oo fopeht afemt atmem
%1 fezm =1 3g@ HifST | 2
How do auxins promote the growth of a tendril around a support ?
OR

What is a nerve impulse ? State the direction followed by a nerve impulse
while travelling in the body of an organism.

5. TIT® IATHI 1 JUT el FA1 BT § 2 2
Why is the colour of the clear sky blue ?

e
SECTION C

6.  H*(aq) I < Higdl < foei@q 1 Thid T THE I 3@ HifT | FIT dR
ot & off Ht(aq) 94 810 8 2afe W 8, af T 3 el == g § 2 3

State the effect of concentration of H*(aq) ions on the nature of the
solution. Do basic solutions also have H*(aq) ions ? If yes, then why are
these basic ?
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11.

12.

@ g1t P, Q 3R R U, P ! Afshaar Q & 0 § 49T R sl @fshaar P 31 Q
gl O At 3 | HIE vE TRy gemse ek g P, Q 3R R Wl 3
Hel g3 |shAAT o HH H SASTEAT oA ST Hehell @ |

A
Hehll o 3T9Fh I AW faRau | Fgfctd TE FHIRT i TERIAr § Wendl
i 3G FIEh T TIsnia e it gfshan it samen Hifse |

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

“fenel TSR % fotu fopelt dwar w1 WHTY] ShHT 3W O o UTHTY] GEHM

HI g B e ITYH e T AT B 17 aw X (TH AT 13) H
ISR TR 38 e hi gfse i |

“Atomic number of an element is considered to be a more appropriate
parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

e eF % IR HIE! hl gt IAEY | I IRK § g0 IRE=ior =i Aaweh
77

List four functions of the human heart. Why is double circulation
necessary in the human body ?

STl hl SRR ToraT FHl T 7RIS o [oRGUSH o Ti hl AT HiT |

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

aTfeTehl o &9 | ymfeassh 3R STAfCTSh o g fF faugTsrl deon 6 g=h
T |

List in tabular form three distinguishing features between cerebrum and
cerebellum.

fafafgd b samen i :

(a)  STfd-3gued
(b)  STehldeh ==

AT
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Hed | "X o WGl % @1 R MU WA § ¥ TH WA H A S a3
Fler e aret 7e & N it faftre foFemt =1 detor U= | 38 "R g Fy
R F, N § e didi % A % Y&l 1 SR Higd Ig@ T | e S
o Afdfs Hued gra g o o 3w e u foRedl @ fawafelt (foepedt)
AU AT TeX o et shi g oft SIS | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR

Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F'; and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

13. SO (9dd fordl shgd @ 2 AHifehd 3@ <hl AT © gredl shifoiw fom
ety # fe@rg o arel et A <l et sueht aredfess feufa & it B | 3
arera
He § JS forell BT Fl I8 TH Fd Had ¢ b 98 Mehege Av @ fifea 2 259
T o QI HRON h G TARY | TR 3@ T ITAN Heh A7 h 9 N h
TN o 3T 6T AT HIfT | 3

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

14. 3 Q a1 drdl S g sEC g  FeliehoiE A € | 379 =A<l gfee
R | F A T E TG g A T § 2 e I 1 g % R @)
ST I g FET | 3
Name two energy sources that you would consider to be renewable. Give

justification for your choices. Can these energy sources be pollution free ?
List two reasons in support of your answer.

15. o & “Sa fafauar w1 fafrse Ta@” =& 79 STar g 2 a4 6 SE o o
IR 34T TS | 3
Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.

131/3/1 5 P.T.O.
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16.

17.

(a)
(b)

(a)

(b)
(c)

(a)
(b)

(a)

(b)

(c)

(a)

(b)

(a)

(b)

317311

W
SECTION D

feforemom rfufsren fordt waa 2 2 forelt SeTewor wfea samen Hifs |
et sfiet o o It Rt e ot g1 =1 < 3o " fires e R
() B arel srfufsean o 9m 3t Sgehl gftam fefley |
(i) 3T ATufRa 1 Fgfora TEET AHIRET R §94 9Tel 341G

&1 qEfe am fafgu |
(i) 39 AT & &1 yg@ Jeon i T SR |

BPC]

e AEde H rumed (forom) arfufsran 1 freffa @ & fog ferdht
foramererTa 61 31firhedaT FifST |
TN SAFET ST AHIfhd TG Tiaht g Tg@ Il shi gl ST |
HAfvepriss 3R Icargl 1 Wifoeh faee H1 IP@ Hd FL BH A
arffsran w1 Tgfera Tamfie T fafen |

What is a double displacement reaction ? Explain with an example.

A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1))  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111) List two main observations of this reaction.
OR

Design an activity to demonstrate the decomposition reaction of
lead nitrate.

Draw labelled diagram of the experimental set-up. List two main
observations.

Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

Y% b ot THEte i foeet weedisr 3R HTeHieht
srfufspanati & = fades Hifsw |

e hi warmeen # foREl TR T 9941 e & fu Shig TRty
fafgu |

Distinguish between esterification and saponification reactions
with the help of chemical equation for each.

Write an activity to show the formation of an ester in a school
laboratory.
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19.

20.

(a)

(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

3131

S Rl e § 2 36 3 TR B g e |
TR Sl 3 SRR S § S e e SR
Bt & 2

AT

<ifireh G T (STD) 91 Bid 8 2 & Sy Sifa 3 & arE dshiia
iR F=ia Wt <Al T TA1ET |

T Ty fRE SEd 8 2 T MUY U i ST9A % diF RO <l =
ERIE

What is reproduction ? List its two types.

How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR
What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.
What is contraception ? List three reasons for adopting
contraceptive methods.

THAA gduIl T o Sfdferst & =R afieret < gt SIS |
ﬁ5cmﬁﬁm30cm®w@%%ﬁwm@200m@
R foud 2 | g0 g9 1 I e o4 arel Sidters 6l feafa sk
arew fgifia HiT |

List four characteristics of the images formed by plane mirrors.

A 5 cm tall object is placed at a distance of 20 cm from a concave
mirror of focal length 30 cm. Use mirror formula to determine the
position and size of the image formed.

Ry, Ry 3R Ry Ufewiei & o9 ufalierss (i) Sofisem ®, q9 (ii) urveishy o
gafd 8 |9@$Wﬁ@ﬁ%§wqﬁﬁa%mm%ﬁq’ql
12 Q & < Ha9d Yfawss 3V <hl fordlt 9t ¥ gaifva & | f=am
gy 3R Afgehay ufeiy o aftomdft T9ieHl gra Uy SRRl o
AT INEhIcTd hIMTT |

St

TETE P 3R ATIEI-FIE FABA ‘A’ o AIHR h{d o TRl =Tereh
% gfeiy MR 3ueh ugrd i dgd Ifeiveha & s gay fafae | 3@
TehT IEd faiegehdl &1 S.I. A Scad i |

5m o fREl a1g & ar @1 gfag 100Q B | AR TW AR A
IITY-HIC HT &% 3 x 107 m? B, a1 &g il Ifatrerehar qierford
HIT |
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21.

22.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Three resistors of resistances R;, Ro and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length ‘’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10~/ m?, calculate the resistivity of
the metal.

Torell ThuTT IrEhi &9 T & o oredq e gRETel € @Tetsh g
Iya fopu I aTet st i feem fgifa & art fm &1 9w s fem
fafeT |

foIq Hiet 1 HIfohd 3TR@ W |

Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

Draw a labelled diagram of an electric motor.

IR
SECTION E

1 SRl H B Hohe o faersd W § SR T Tk H IO ol Wl SR g H
tqfufem < ot STe % AT 1 Hue % geTd @ Yo g 2 A W H w
Uierde IR ST g, df 8 arefl rfufsee o Am qen Afifsear 1 wEmafe
grtertor oft fafau |

AT

g B B Tohe fohteat oo forgven (fornem) ifufsean &1 srem e

ITEdT & | 39 YA hl hid 99T 3Teh gl Sdl ST a7l e Fraant=ar fafay |
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23.

24.

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical

equation for the reaction.

OR

A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while

performing the experiment.

THTgeh 3TFet o el fqu MU T[uremt 1 31eeH Shid Tud o119 o1 fsep fepretnt

3Rl gl 8T ¢

(a) WY

(b) & H focmar

(¢ Torem® w3 @ ywma

(@) Tfsam gEgion S & oy rfufsen

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

fpeft B A “zama & sy # CO, Fiadt 7 il awia & faw Sush
A L T g | T 1 992 o 99ETq 98 Heht et § St @ ad H his
T &l UTAT | TR <l TFheTdl o & FHTIfd HRur fAfe |

A student has set up an apparatus to show that “CO, is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the

experiment.

9 P.T.O.
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26.

TgT T T8I0 R o fou o<l o et @1 37 ]
B S o I(dNTh & 3T gal ol 3TN hid & | 39 gal o A1 fafgy 31T
3g@ T T I ga o 3 =41 39T fopy I1d B |

AT

3 =R gEgrE Hi 3t wE # g Ss S 9eq g9 Uit o foesh @
SRRt STRIYUT FIR i THT HLd 7 |

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR

List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

fopelt qreyr fovar w1 wftifers STH teh QU TTQ S7ade Ul shi Hiefehe BiehE gl
i T o T i A hI 9 6 =0T H HEER g R |

AT

Toreft ®F &1 UAH i & IR fofye 7 & T ®E & IEdeR w9 9
TR aTeft ehrer feRtur 1 9 STRRad T 7 |

(a) 39 AT I & HEw ol HradTi-i i et SISy |
(b) 38 TN W YTNG B gRT THehlet U ¢ skt <hl Ft ST |

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

10



=15
ok
27. 3RW@ H WU 7Y dicediet o duH W fa=m hifvy it fa=fafad goi o 33
T

15
0 3.0
\Y4
(a)  dlceHIEX T 3TeUdHTeh 941 8 ?

(b)  dlccHIeX I IISATh o1 & 2

(c) Ife I8 dicedier frelt 20 Q & fdtiass & &0 @ gaifea 8, @ gfalys
g fora) g yenfed 21 @@ 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much

current is flowing through the resistor ?
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